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struct Deque* dqcons( struct Deque* p , int x , struct Deque* n ) {
struct Deque* a ;

a = (struct Deque*)malloc( sizeof( struct Deque ) ) ;
if (a !'= NULL ) {

a->prev = p ; | struct Deque {

a->data = x ; | int data ;

a->next = n ; | struct Deque* prev ;
} | struct Deque* next ;
return a ; |} ;

int main() {
struct Deque* top
= dqcons( NULL, 999,
dqcons( NULL, 1,
d->next-> = top ; dqcons( NULL, 2, NULL ) ) ) ;
”””””””” A3 top->next->prev = top ;

int shift( struct Dequex top ) { |
|
I
|
|
|

top—>next = | top->next->next->prev = top->next ;
I
|
|
|
|
|

int ans = top->next->data ;
struct Dequex d = top—>next ;

””””””””””” (B)3 top->prev = top->next->next ;
top->next->next->next = top ;
””””””””””””””” ()3 push( top , 3 ) ;
return ans ; printf( "%d\n" , shift( top ) ) ;
} Y return O ; // 10000
void push( top , int x ) {
””””””””””””””””””” (D)2
struct Deque* n = dqcons( , X , top ) ;
””””””””””” (E)3
”””””””””””””””””””” (F)3

top->prev = n ;

2 0000 (25)

1. dgbobobobogbgabgoessbigbobobuoboboobuoboogbobooban
gobobooboobooboobon

2. int a[l = { 53, 11, 86, 10, 22, 65, 92 } ; 0000000000000 20000
0000000000000 0000 NOOOOOOO0OO0O0O0OO0O0oooooooy)
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1. 0000 [0-9+[A-Z]*x0 0000000000000 0O0O0O0O0OOO00O00OO0O0O00O0
Do00O0O0O0OOoOoOoOoxOoOooooo
(1) 45678 (3) 987+BA (4) ZYXWV ______
2.00 BNFOOOOOOOOOOOOOOOOOOOOOOOOO0OO0OOxOoooooo

(2) 99ABCx*

<exp> ::= <var> < .o.0> = 00,
| ( <exp> + <exp> ) OBNFOOOOODOOO
| <exp> * <exp> =000, | 000
; ; OBNFOOOODOOODO
<var> ::= A | B | C | D ;

(1) A+(B+C)*D (2) (A+B)+(C+D) (3) (A+B)*(C+D)

4 000000000000 (25)

000000000000 0mainODOO000O0D0O+230000000000000C0
g000Do000oooO0o00DoO000Db0000n print_rpn() 000000

struct Tree { | void main() { // 1 + 2 % 3
int data ; | struct Treex top
struct Treex left ; | = t_op( ’+’ , t_int(1) ,
struct Tree* right ; | t_op( %’ , t_int(2) , t_int(3) ) ) ;
; |
|

} print_rpn( top ) ;

struct Treex t_op( int op , struct Treex L , struct Treex R ) {

struct Tree* ans ;

ans = (struct Treex)malloc( sizeof( struct Tree ) ) ;

if ( ans != NULL ) {
ans->data = op ;
ans->left = L ; | struct Treex t_int( int x ) {
ans->right = R ; | return t_op( x , NULL , NULL ) ;

|

return ans ;

void print_rpn( ) Ao
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struct PNTree {
int phone ;
char name[ 20 ] ;
struct PNTreex left ;
struct PNTree* right ;

s

void add_phone_name( int ph , char

struct PNTree** tail = &top ;
while( *tail '= NULL ) {

if ( (xtail)->data

return ;
else if (

tail = &( (xtail)->left )

else

if ( *tail != NULL ) {
(*tail)->phone = ph ;
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strcpy( (xtail)->name , nm ) ;

(*tail)->left =

(*tail)->right =

NULL ;

}
}
int find_by_phone( struct PNTreex p , | int find_by_name( struct PNTree* p ,
int ph ) { | char nm[] ) {
while( ) { | if ( p == NULL ) {
”””””””””””””””””” (E)3 I return O ;
if ( p->phone == ph ) | } else {
return 1 ; | if ( strcmp( p->name,nm) == 0 )
else if ( p->phone > ph ) | return 1 ;
| else if ( find_by_name( , nm )
””””””””””””””””””” (F)3 | Tt ()2
else | return 1 ;
| else if (
””””””””””””””””””” (@3 I ittt ettt
return O ; | return 1 ;
} I else
| return O ;
struct PNTreex top = NULL ; |
|}
void main() {
add_phone_name( 272727 , "nobody" )
add_phone_name( 210110 , "police" ) ;
add_phone_name( 621111 , "fnct" ) ;

if ( find_by_phone( top , 210110 ) ) printf( "Find 210110\n" ) ;
if ( find_by_name( top , "fnct" ) ) printf( "Find fnct\n" ) ;



